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Topic:- General knowledge

1) Rani Durgawati ruled which among the following principalities of erstwhile Madhya Pradesh? /

I gt A yagd wer wew ot frfafeaa ® 9 i fraraa w = fosar are
1. Gondwana / TISaMI

2. Bundelkhand / §ereS

3. Maheshwar / AR%R

4. Gwalior / TATICRIR

Correct Answer :-

« Gondwana / T&dH

2) The folk dance form called ‘Naurata’ is prevalent in which of the following regions of Madhya Pradesh? /
Ao yewr & i@ asi # A ®ei =Rar A e T Dol vafed 22

1. Bundelkhand / §40ES

2. Vindhyachal / [d&imeret

3. Malwa / HIcldl

4. Baghelkhand / CERECES

Correct Answer :-

. Bundelkhand / §SAGS

3) CANCELLED

What is the percentage of forests in Madhya Pradesh’s total geographical area? /
TS F Hol e & & Sral &1 gia=rd w82

1. 20-25%

2. Less than 20% / 20% 9 ®H

3. More than 30% / 30% & 3fftic

4. 26-30%

Correct Answer :-

« More than 30% / 30% ¥ 3if¥I&



4) Dronacharya Award is given for the excellence in: /
SR REHR e & Iopear & forg fan wiar @:
1. Cricket / fhdhe

2. Archery / LIRS

3. Track and field / % IR B

4. Sports coaching / ad Ufreqor

Correct Answer :-

« Sports coaching / Ao ufReon

5) How many agro-climatic zones are there in Madhya Pradesh? /
AT # $d fhaa piy-STaaryg &7 &2

1.9

2.10

3. 11

4,12

Correct Answer :-

6) Madhya Pradesh constitutes ____ of the geographical area of India. /
AU, YRA P HINfa® &8 BT 69 Har gl

1. 8.12%

2.11.67%

3. 10.45%

4.9.38%

Correct Answer :-

* 9.38%

7) Which of the following is NOT a work of Kalidasa? /

frafafad 7 @S- v Fiier #1682
1. Rajatarangini /X SR fTof
2. Kumarasambhavam /HRIHIH

3. Meghadutam /af‘a?ﬁ:[
4. Abhijnana Shakuntalam / SR RMMpdeiHq

Correct Answer :-

 Rajatarangini /X SRl



8) Kumbh Mela at Ujjain is performed after every ___ years./
IO A Y AN PTG, TAS_ qU dIG glaT gl

1.5

2.8

3.10

4. 12

Correct Answer :-

o 12

9) Who is the Director of Indian Institute of Technology (IIT), Indore? /
HRTa MRt SR (SmEemgdh), SR & ez P 82

1. Prof. Abhay Karandikar / 1. YT HRaIP

2. Prof. Pradeep Mathur / PIREL HIYR

3. Prof. P. Seshu /1. UT. @ﬂ

4. Prof. U.B. Desai / . ?{[Eﬂ aﬂ'l_st

Correct Answer :-

« Prof. Pradeep Mathur / WV, Ti&q HIRR

10) Who was the first Indian origin novelist to win the ‘Man Booker Prize’ for fiction? /
freRTT & forg A9 §H) REPR' Sid- a1 Tgd YR Jd SU-IRIGR SI4 A2

1. Arundhati Roy / SR AT

2. Vikram Seth / fdshH T3

3. Shoba De / RMHTS

4. V.S. Naipaul / Eﬁ@ BB

Correct Answer :-

« V.S. Naipaul / 91.09. AUid

11) A.R. Rahman won an Oscar for which of the following movies? /
Frafafaa & 9 few fivea & forg T.9mR. g9 7 sifeas Sfiar?

1. Million Dollar Baby / fAfera SieR s&t

2. Slumdog Millionaire / TSI R

3. Pele / Ul

4. Namesake / THI®

Correct Answer :-

« Slumdog Millionaire / TS fifFeR



12) The Rail Coach Factory is located at which of the following cities of Madhya Pradesh? /
Yo Pra e, A Uem ¥ e el # 9 s R 2

1. Jhansi / =Y

2. Gwalior / TTICRR

3. Bhopal / uard

4. Ttarsi / SR

Correct Answer :-

« Bhopal / T

13) Bandar Kudni, the marble mountains, is located in which of the following districts of Madhya Pradesh? /

7 U & FAferfad # | 5y e & der pe-t, arda & usrs fRa &2
1. Indore/g_faT

2. Panna/ UdT
3. Datia / E{I%P:IT
4, Jabalpur / SIF¢TYY

Correct Answer :-

« Jabalpur / SIe[cTYR

14) Who among the following fought the Mughals for over a half-century and liberated Bundelkhand? /
fFrafafaa & 3 e goral @ et wraTedl a@ as1s @1 ol geads &) gad Harn

1. Raja Chhatrasal / XTSI 92T

2. Tantia Bhil / ST Hiel

3. Rani Ahilyabai Holkar / It 3{fecdTaTs Bledh

4. Rani Lakshmi Bai / I G1&HT a'lé

Correct Answer :-

 Raja Chhatrasal / TSI S2ATeT

15) The community dance of Malwa is J

AT FTAMSRAS a7l

1. Badhai / SUTS

2. Naurata / STRdl
3. Matki / Hi¢a1

4. Gangaur / TUATR

Correct Answer :-

« Matki / /CP]



Topic:- General Hindi

1) fendP & forg W& W fade = g
1. et

2. fagrrardf

3. famarff

4. fazm+amft

Correct Answer :-

. faameardf

2) ‘HUSRY BT Y5 U FT A BT A2
1. HRSRL

2. YeTR

3. SRt

4. YSTH

Correct Answer :-

3) SiAfeER re F R e I Fadd AT
1. 3=
2. 3E
3. 3R
4. 3B

Correct Answer :-

4) GH TTTHR UTTHT YeTa &1 of P Rpa A A par g2
1. ST H YT

2. foT e & yrET

3. SR B UM

4. S P I

Correct Answer :-

o SY DY HEAT

5) ‘feuTera & fore wgt wft fasde &t gfAw

1. g+



2. fea+3me
3, fgr+3re
4. fBaT+3mer

Correct Answer :-

. fer+ame™

6) T gH= 7 fohar oI W & ol v W U A A p AT R?
1. SfeHT

2. 3l

3. Al

4. 3qHY

Correct Answer :-

7) T & fore wE vatgarh ara 2=t & dfea &1 gfg)
1. I, B, I
2. S, Hed, 9
3. OfgT, e, 99
4. UfEN, P, A

Correct Answer :-

8) 3T femmr gerak @1 o P fareni A3 v d?
1. 1 e

2. 1Y Yebe 4 BHRAT

3. 1Y Pebe DAl

4. 1Y THE HRA &1

Correct Answer :-

. HIY YPpc HIAT

o) <l 3 Ror Wt watar AT wedt Y U gh
1. e, afve,
2. B, e, Y
5. B, oy, )
4 e, after, At

Correct Answer :-



Correct Answer :-

. W
11) ygRr &1 9 & Q9 91 98! v e 32
1. fAfaa
2. fAfaf
3. fAfdfy

4. fgfr

Correct Answer :-

12) ‘gRAfaiad BT AL ARG s e I s are?
1. B1Y R forfga

2. 719 9 fafad

3. 814 & forg ferfaa

4. gy ¥ fafaa

Correct Answer :-

. g9 foafea

13) g &1 9 A Q P9 91 98} I T 82

1. q0
2. OTdt

3.0
4.8

Correct Answer :-

14) S[TR I BT IR UTF T 82
1. BT



2.3fd
3. 09
4.819

Correct Answer :-

15) Hied Agufa wfew amy

Yao Tfua gra gare| | - & g 3 Q S5 91 seer 82
1. IUHT 3ADR

2. U 3ADPR

3. gHP AABR

4. 0P MABR

Correct Answer :-

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

The brave boy jumped the well to save the child.

1. at
2.0n
3.into
4.in

Correct Answer :-

2) Choose the option with the appropriate punctuation inserted for the given sentence.
The Election Commission EC has announced the date for the general elections

1. The Election Commission EC has announced the date for the general election?

2. The Election Commission (EC) has announced the date for the general elections.

3. the election commission, (EC) has announced the date for the general elections!

4. The election commission (ec) has announced the date for the general election.

Correct Answer :-

« The Election Commission (EC) has announced the date for the general elections.

3) Spot the error in the given sentence:

Either Lalit or Navin forgot to take their umbrella.



1. their umbrella.
2. Either Lalit

3. forgot to take
4. or Navin

Correct Answer :-

o their umbrella.

4) Choose appropriate tense for the given sentence:

You are late for the class, go and _____ on the last bench.
1. sat

2. sit

3. was sitting

4, sitting

Correct Answer :-

o sit

5) Choose the appropriate articles to complete the given sentence.
Setback __ clock.Itis ___ hour too fast.

1. the, an

2. the, a

3.a,a

4. a, an

Correct Answer :-

6) Choose the correct form of verb that is in agreement with the subject:

We ___ our teeth for holding, cutting and chewing food; so they __ to be strong.
1. use, have

2. using, are going

3. using, got

4. are using, are

Correct Answer :-

e use, have

7) Choose the option that best transforms the given sentence using a question tag.

A family of four can live here comfortably.



1. A family of four can live here comfortably, don’t they?
2. A family of four can live here comfortably, can’t they?
3. A family of four can live here comfortably, can they?
4. A family of four can live here comfortably, isn’t it?

Correct Answer :-

« A family of four can live here comfortably, can’t they?

8) Select the suitable conjunction to complete the sentence:
you tell the truth or face the consequence.

1. Neither

2. Although

3. Not only

4. Either

Correct Answer :-

« FEither

9) Choose the most suitable determiner for the given sentence:
If ___ one of you have questions, I will be pleased to answer it.
1. much

2. any

3. little

4. some

Correct Answer :-

10) Choose the most suitable prefix for the given sentence:

The earth, according to Ptolemy, was a fixed and ____mobile mass, located at the centre of the universe.
1.in-

2. un-

3. im-

4. non-

Correct Answer :-

¢ IMm-

Topic:- General Math



1) Shriva has 270 coins with her. The number of 5 rupee coins is two times and the number of 1

T ; .
Tupee coins is - times the number of 2 rupee coins she has. Find the total amount she has. /

P & o 270 R §1 36F OF 2 3 & Siae Rad B, 368 aeet 5 ¥ &
R €, 3T 36 © 7o 1 39T & fadh §1 56 T o el TR &

1. 810
2.720
3.630
4. 900

Correct Answer :-

. 810
—=_ L ifX=V2+Band Y=423

" | . R | z Z
afE X=\2 +3Td Y =2 43, &t X;YY = _

4.20

Correct Answer :-

. -10

3) Ifa B,y are the zeroes of the polynomial 3x3+ 4x2- 6x +7. then ofy is: /

I By E@Uﬁ' 30+ 4x2 6x+7 & AT %, Fn'otﬁv %:

7
3

4) Find the value of k" if (x+3) is a factor of the polynomial fix) = k3% -1/
af TFUE fx) =k 3% -1 T UH AUES (x13) §, 99 K H A AT Hiforel

V341
1. 3




3W3+1

o| 5

33 -1
4, 9

Correct Answer :-

W3+

5) A circular park of 40 metres diameter has a circular path just inside the boundary of width 2 metres. The area
of the path is square metres. /

;%ﬁaa%mmﬁwmuﬁﬁzﬂaﬁm%mmmwmw%luumaﬁm
Hex 8|

1 68w
2. ?6‘]‘1’
5 1007

4. 60 1

Correct Answer :-

6) A book and a CD together cost Rs. 230. If the CD costs Rs. 60 more than the book, then how much does the
book cost? /

TS TP 3R TH WISt 7 TP 91 & Ted 230 3. 21 afe WY &1 qew, fFara A 60 %. S1e1 8, 9 (P F1
ey fora 82

1.Rs. 85/85%UU
2.Rs. 110/ 110 34T
3.Rs. 170/ 170 %YU

4. Rs. 80/ 80 %Y

Correct Answer :-

+ Rs. 85/85%UU

7) Raju buys 10 gift boxes at a certain price and sells 8 of them at the same price. By what percent does he make a
loss or gain? /

] T Af3a g WR 10 Fie & fo= Tdtan @ ok 378 | 8 30 e W I9a1 81 39 fran wfasra o &
T a1 ATy gt 82

1. Gain 25% /25 % dTYH

2. Gain 20% / 20 % <H



3. Loss 20% / 20 % &4
4. Loss 25% / 25 % BT

Correct Answer :-

o Gain 25% /25 % <Y

8) What is the angle between the minute hand and hour hand when the time shown on the clock is 4 p.m.? /
oI TSt ¥ 4 p.m. I TET &1 At T &Y g3 iR 92 &Y Y3 & o a7 arar dlor R @2

1, 90°

2 150°

3, 120°

4, 60°

Correct Answer :-

9) There are 7 friends F1, F2, F3, F4, F5, F6, and F7 with two-digit consecutive roll numbers such that all of them
are composite and there is no prime roll number in between them. What is F2’s roll number if none of the numbers
exceed 100 and the friends are sitting in ascending order? /

T I F1, F2, F3, F4, F5, F6 3R F7 &, % Q)-3i@ HTTd Ad TraR 39 UPR ¢ 1% 9 9+t 3igaa & oik
mﬁaﬁg%@ﬁawﬁélFzmﬁaﬁa?w%w%ﬁéiﬁmmoﬁ&mﬂﬁéaﬁ?aﬁ
RIS v H ?

1. 89
2.90
3.92

4.91

Correct Answer :-

10) If Rajat buys 120 candies and loses 30 of them on the way, then what percent of the total number of candies is
left over? /

Tfe ToTd 120 $IY W1 @ 3R I8 9 30 IF A @) a1 2, 9 A I HST T Ul |82
1. 70%
2.75%
3. 65%
4. 60%

Correct Answer :-

o 75%



11) If Rahul claims that the hour hand of his watch makes three-fourth of a revolution in clockwise direction, then
where will the hand be if it starts at 5 p.m.? /

afe g 311 T ¢ [ IS uSt B °e arent G, afrommad @iipars) fawm # v afispHor &1 di-
drurE T 8, o afe ue w5 99 o gt @ o g et et

1. 1 am./Yd: 1:00
2.12:30 a.m. / YTd: 12:30
3. 1:30 a.m. / UTd: 1:30
4.2 am./UId: 2:00

Correct Answer :-

e 2am./YId: 2:00

12) A live concert is happening in the city. The number of confirmed bookings is 51200. As the artists start
performing, the crowd starts increasing at the rate of 2.5% per hour. What is the expected crowd at the end of 2
hours? /

MR A TP AT3d A< ol T&T 8 | UFB! b1 o1 U= 51200 81 9 T FATHR YR+ HAT RYH Ha
g, s 2.5% ufd 62 B G A 9¢1 Y & 9Tl 81 2 Hel & 91g 3rufera ofis w32

1. 53792
2.53790
3.53791
4. 53793

Correct Answer :-

« 53792

13) In a dance competition, the dancers belonging to three different troupes change their dress at regular intervals
of 8, 12 and 18 minutes respectively. If the first costume change happens at 9 a.m., then at what time will the
change happen together again? /

e g faafrar #, 9 fafira veferal & de was: 8, 12 3R 18 firFel & Fafta siavrel w s
U= ggad 3 | afe Ugel IR TR UTd: 9 I3 9gal WTdl 3, a9l SIaRT 5 T UR TS A1 UIRId geet
STEr?

1. 10:22 am. /UTd: 10:22
2.10:02 a.m. / YUId: 10:02
3.10:12 a.m. /YId: 10:12

4.10:32 a.m. /Yld: 10:32

Correct Answer :-

e 10:12 am./UId: 10:12

14) If the expression 130a — 234 gives the H.C.F of 130 and 234, then the value of ‘a’ is: /
gfe Fiel® 130a — 234, 130 3R 234 HT HgWH THTIGY T g1 @ ‘a’ BT U &:

1.3



2.13
3.2

4.39

Correct Answer :-

15) Which of the following is NOT a terminating decimal? /
fFrafafea & A $19 e 9id gxmag @A Sdive) 98 82

13

1, 80

27

) 24

11

3, 48

4, 32

Correct Answer :-

Topic:- General Logical Reasoning

1) Study the following information carefully to answer the question.
3IDKSP27#@d4JTH9*FMR15%?68
How many such numerals are there in the above arrangement which are immediatelv followed by

a svmbol and immediatelv preceded by a letter?

Tl & 3ec} &1 & folv farafeif@a e RT & aaenigds 98|
IDKSP27#@4JTHO*FMR15% 768
3T e 7 O fohae 3@ § e {a 96 e e § 3R g%d Toe @
HaR 87

1.Two/apf

2. Four /dR

3. Three / TF

4. One / Tdh

Correct Answer :-

e One/Udh

2) CANCELLED

A dishonest milkman professes to sell his milk at cost price, but he mixes it with water and thereby gains 20%. The
percentage of water in the mixture is .



T dSHH GIAT dRTd Yo UR 30 G4 1 9 DT a1 BT 8, U= 98 94 U1 FHETdr 3 8iR S ISR
20% PTATH YT Hear g | Ry A gt srufara 31

1. 16%
2.25%
3.20%
4. 18%

Correct Answer :-

o 20%

3) A mother is four times as old as her daughter today. After 22 years, she would be just twice as old as her
daughter. At the time of birth of her daughter, how old was the mother? /

FAUT § TP Hi D1 3T ITD! 31 BT MY A IR AT 21 22 T 976, ITPT MY I701 A8 B 3y A S &t
AT ERT 9t & &7 & 9Ug, |1i 3t (g fat 42

1. 33 years / 33 CL
2. 40 years / 40 atf
3. 25 years / 25 a'ﬁf
4. 20 years / 20 CL

Correct Answer :-

o 33 years /33 atf

4) If 2 is added to the middle digit of each number and the positions of the remaining two digits in each number
are interchanged, then which of the following will be the second number from the top after they are arranged in
the ascending order.

843, 219, 325, 437, 562

e 2 B TP T P A 3 | SIIST SaT & 3R U = A A 3 3! o fRAfa # 3iarvr fear sman g,
at ARIE HU | Hafeyd H1 & 91 7 T A S Gt Jen 2 & fgdia ghfiz

843, 219, 325, 437, 562
1. 325
2.437
3.219
4. 562

Correct Answer :-

o 437

5) How many five digits numbers can be formed with the digits 0, 1, 2, 4, 6 and 8 (each digit occurs only once)? /
3BT 0,1, 2, 4, 6 3 8 T fHa-it Uie 3P| B} TBATE TN ST Hhel! § (AP 3 Had b IR 3ATdT 8)?
1. 600

2.500



3. 400
4.300

Correct Answer :-

« 600

6) How many words of 4 letters beginning with either A or E can be formed with the letters of the word
‘EQUATION’? /

ATTE A YRE 811 919 4 31&R} & fFaq Wsg ‘EQUATION® Teg & 31erR) | fAfifa fpu o g 82
1. 120
2. 330
3. 320
4. 420

Correct Answer :-

« 420

7) How many minutes does Sohan take to cover a distance of 600 m, if he runs at a speed of 30 km/hr? /

Hig=T Y 600 Hiex B gt a0 H+ A fpa-t firie @rd 8, afe a8 30 fowdteer o1 nfa @ Qsar a2

% mim £330 TR
1. =] =]

I e

2. =] =

2 2
1-min / 1— Helc
3. 2 3

T 1
2=min / 2= [&«C
4, 3 s

Correct Answer :-
1 1
1=min / 1= fA=C

8) Two-fifth of one-third of three-seventh of a number is 18. What is 60% of that number? /
T W@ F iH-91ad § 9 U-fagTs 31 gl-uiwai i 18 71 39 WS $T 60% FaT §hM?
1.190

2. 191

3.192

4.189

Correct Answer :-

« 189



9) A train 70 metres long travelling at 50 km/hr passes through a station whose platform is 80 metre long. How
much time does the train take to pass the platform? /

50 farel/eer @ Ta 38 70 Wiex @l Te 21, TP WA A 81D Tord! 8 st Wewnd so fex dar @1 e
P! WehTH HI TR H1 | fhd-T Gug arar 82

1.10.6 sec / 10.6 TS
2. 11.8 sec / 11.8 YHS
3.10.8 sec / 10.8 Yh S
4.10.4 sec / 10.4 THS

Correct Answer :-

. 10.8 sec/10.8 ¥dHs

10) When a refrigerator is sold for Rs.18600, the owner loses 20%. At what price must the refrigerator be sold in
order to gain 20%? /

STd T B 18600 TUY H I STAT 8, o) AT B 20% BT it 1 20% ATH U P forg IpoRex &1
g Fiva W s=1 =7 Tfee?

1. Rs. 27800 / 27800 TG
2. Rs. 27900 / 27900 ST
3. Rs. 27700 / 27700 394
4. Rs. 27600 / 27600 3T

Correct Answer :-

« Rs. 27900 / 27900 ST

11) A container contains 40 litres of milk. From this container 4 litres of milk was taken out and replaced by
water. This process was repeated further two times. How much milk is now contained by the container? /

TS S | 40 TH1eR gU B 1 39 aT o 4 ez gof et man ok 39 ot A sga fan a1 s uipar #t Q)
TR SIEITa1 47| a1 H 3« fpa- gu 82

1.27.16 litres / 27.16 TIeX
2.29.16 litres / 29.16 Tex
3.28.16 litres / 28.16 5“ [k

4.26.16 litres / 26.16 TeX

Correct Answer :-
. 29.16 litres / 29.16 TIEX

12) A committee of 5 is to be formed from 6 gentlemen and 4 ladies. In how many ways can this be done, if the
committee includes at least one lady? /

5 AN Y T A, 6 gt 3 4 Afgarsit @ frae? a9t ot 81 foraq a8l & afafa & ssmar s
H&dl § ForeHd o3 | $H Te Afgan s iHd 812

1. 240



2.232
3.235
4. 246

Correct Answer :-

« 246

13) A gold bracelet is sold for Rs. 23500 at a loss of 20%. What is the cost price of the gold bracelet? /
TH TN BT BT 20% F THA UR 23500 FUY T ST 11 3 | HA & S 31 S F182

1. Rs. 29375 / 29375 30U

2. Rs. 29753 / 29753 ¥UY

3. Rs. 29573 / 29573 30

4. Rs. 29735 / 29735 30U

Correct Answer :-

« Rs. 29375 /29375 U4

14) The probability that a card drawn from a pack of 52 cards will be a heart or a queen is i

52 Uil aTelt 1= B U S A FAewran ar ue uwn e ar v gh, st wilkear R

|h."

=
—
[

[
Lid

th

4.

Correct Answer :-

15) Shyam bought 5 shirts at Rs. 1250 each, 4 trousers at Rs. 950 each and 12 pairs of shoes at Rs. 2450 each.
What is the average expenditure per article? /

T 1250 $UT UTd & 719 & 5 ¢ WA, 950 FUC ufd & 39 & 4 e @t 3R 2450 $UQ ufel Ft
PG W 12 TS o WS | v avg oivaa =g = 32

1. Rs. 1787.57 / 1787.57 30U
2. Rs. 1788.57 / 1788.57 UU
3. Rs. 1887.57 / 1887.57 SUY

4. Rs. 1878.57 / 1878.57 U



Correct Answer :-

. Rs. 1878.57/1878.57 304

Topic:- General Science

1) In which of the following liquids can sodium metal be stored safely? /

Frufafea # & f5a oo vard # Sifsaw urg o1 QRiEa wu & sufed f&ar o aea g2
1. Water / Slcl

2. Dilute sulphuric acid / T W s

3. Ethanol / T3Tdl

4. Kerosene / RITRI

Correct Answer :-

« Kerosene / BRARM

2) Photosynthesis removes from the atmosphere. /

THTR ARATOT FTaTavor S gerqar gl
1. nitrogen / ?IE@\_SFT

2. water vapour / SI¢] dT™]

3. oxygen / i

4. carbon dioxide / BTE 313'31}@'5_6’

Correct Answer :-

« carbon dioxide / PTa SEATRIZS

3) Which one of the following elements of the third period of the Periodic table has the largest size? (Atomic
numbers of the elements are shown) /

ﬁm%mmﬁmﬁﬁﬁqwaﬁmﬁmw%@ﬁaﬁmmm
)

1. Al(Z=13)
2.Na(Z=11)
3.85i1(Z=14)
4. Cl(Z=17)
Correct Answer :-

. Na(Zz=11)

4) Which type of mirror can produce an enlarged and real image? /

frg YR 31 guv, sifiafifa sik ardfa® ufafds &1 fAafo & Ioarg?
1. Convex mirror / WE&UT



2. Concave mirror / 3{ddd GUUI
3. A mirror made from a solid cylinder / Ydh BN &7 9 &1 U Ly
4. Plane mirror / GHJA GYUT

Correct Answer :-

« Concave mirror / {ddd gUul

5) Which of the following vitamin is responsible for the clotting of blood? /

frafeafea & @ o1 a1 faerftE g & Yo F forg irier 82
1. Vitamin D / fqeTiiq 1
2. Vitamin B / faeTia «ff
3. Vitamin K / fdefi_ &
4. Vitamin C / faeTfam <t

Correct Answer :-

o Vitamin K / faerfm &

6) Which of the following is NOT the unit of speed? /
FrafafEa # & o149 9 99 ot 318 181 82

1. kg/s/ fem™

2. kmv/h / fopHi/eer

3. cm/s / AHIA

4. m/s / HA

Correct Answer :-

. ke/s/ T

7) Which among the following is a natural indicator? /
Frafafaa ¥ A 919 91 U Tpfas Ja@ (R §51der) 32
1. Methyl orange / furgd 3RS

2. Methyl violet / [EUIENEIRE

3. Phenolphthalein / IEEINERNIE]

4. China rose / dlg-l I

Correct Answer :-

o China rose / dIg-I RS |

8) Iron is an essential mineral which is needed for our body for the production of ./

3MIRA U Afard @faw §, &l g9 IR & ¥ IUTe & T maws gl
1. haemoglobin/mﬁq



2. bone/ Bgf

3. teeth / GId
4. thyroxine / YTRIfRTA

Correct Answer :-

. haemoglobin/é qrafad

9) _ areadded to the field to replenish the soil. /

A H RRETFA T A e Rt FReadd sl
1. Water / UT1

2. Fungicides / Ha®H-RI ((GIIATES)

3. Manures / @G (H3R)

4. Pesticides / BICATRID GATd (R INITZS)

Correct Answer :-

« Manures / 9Iq (ﬁﬁ&ﬁ)

10) Burning of coal in a closed room produces gas. /

Wi PMABA TR fgSTad gl
1. nitrogen oxide / TTSCIoH TS

2. oxygen / SfeRfTo

3. carbon dioxide / BT ST HRIZS

4. carbon monoxide / CACE Iﬁr&ﬁaﬂs‘s’

Correct Answer :-

« carbon monoxide / BT uﬁraﬁ%nss'

11) In the human ear, the membrane which vibrates and helps in hearing is called .

ATHa $TH H, 98 f3reeht S $u= Hl @ 3 g1 # geg Hel g, Pgardl 8|
1. Eardrum/Wanf(qugq)

2. Ear canal / U AfIeT @R 2b"IQ'I)
3. Ear lobe / @ UIT (3R )
4. Pinna / ST T ST YT (M)

Correct Answer :-

. Eardrum/WEb—[qu(qu@

12) We can test whether an object is charged or not with the help of a/an .
TATH P Ueg A TE ST HR TP 8 [P IS avg Smafkma g ar =
1. telescope / TUIDIT



2. microscope / AIEhIhIY
3. electroscope / sﬁaej%a?rcr
4. stethoscope / CURDIT

Correct Answer :-

« electroscope / 3@]5@@%5[

13) A solution in which no more solute can be dissolved at a given temperature is called: /

o e o @15 9=y faa faw 1g argwm= wR =16t diar s |l 7, e sgarar s:
1. Unsaturated solution / 3 faera=

2. Universal solvent / GaadTd! fadmrads

3. Volatile solution / ATSIRAeT faera=

4. Saturated solution / & ICNRE]

Correct Answer :-

« Saturated solution / St faeaH

14) The movement of food to the different parts of a plant is through ./

MY FRRERE d e Hiaa_ Foreaw Il
1. roots / STg

2. phloem/ TATTH

3. xylem / STgEH

4. leaves / Rl

Correct Answer :-

« phloem/ tﬁ‘h@

15) The star in the center of our solar system is: /
TR UR Hew & dg A A arT3:

1. Sirius / RIRTH

2. Alpha Centauri / 3¢l JR

3. Sun /ﬁff
4. Polaris / TTGTRY

Correct Answer :-

. Sun/ﬁcf

Topic:- General Computer

1)



In MS Excel 2010, to make the data easier to read, you can apply different options to a block of data. /

m;a:ﬁazomﬁ,%aaﬁuﬁﬁammﬁ%m,anq%a%o—cl"wﬁﬁﬁ-m ST AN H
qHd Bl

1. WordArt / TS

2. Conditional formatting / HEITAA BrHfeT

3. SmartArt / TATC 3¢

4. New Comment / :\’laﬂﬁ?

Correct Answer :-

« Conditional formatting / & SR BT

2) In MS Excel 2007, AutoSum option can be accessed from: /
THTH TR 2007 H, 3T fdwer 31 981 3 e foar 51 9ot 6:
1. View tab / 3 &

2. Insert tab / ET\EIé %a

3. Review tab / ﬂq%ﬁ

4. Formulas tab / Wﬂi?ﬂ |

Correct Answer :-

« Formulas tab / tFIIiT’IT |

3) In MS Excel 2007, the inserting table option can be accessed from_ ./
THUH TR 2007 #, SAfETIg@ @A A A vy fpar s asar gl
1. View tab / &L%a

2. Insert tab / 5':\‘:[_5 %’a

3. Review tab / ﬁ’aﬁa’

4. Formulas tab / tFIIiT’IT |

Correct Answer :-

o Insert tab/ ET\‘TCF GG

4) In MS Excel 2010, Freeze Panes button can be accessed from: /
THUH T 2010 F, W6 U0 9e 31 981 9 Ta0H [T o &l 3:
1. View tab / a:;%‘q'

2. Insert tab /ET\EI_(.‘: %a

3. Page Layout tab / U d3f3e ed

4, Design tab / %Trﬂg:f 9

Correct Answer :-

« View tab/ al%_d



5) In MS Excel 2010, which of the following options will use different shades of color to represent different values,
from low to high? /

THE TR 2010 ¥, fFafafad § @ 19 91 fed 39 a0 & i sl s ufaRRe s F R s
fafi=1 g &1 s¥auTa B2

1. Top/Bottom rules / cIu/aed T

2. Data bar / ST dR

3. Highlight cells rules / ST3dIgC T Fe
4. Color scales / TR Wb e

Correct Answer :-

« Color scales / PR Thed

6) In MS Excel 2010, the extension for a macro enabled workbook is: /
THTY TR 2010 H, TH Ah! J&H ahgd & fore Trie= §:

1. xltm

2. xltx

3. xIlsm

4. xlsx

Correct Answer :-

7) In MS Word 2007, to increase or decrease zoom size we use: /

THTY 8 2007 §, H PR &) 9¢M 91 ¥ F T g0 s0HT STaRT 334 &
1. None of the above/sqﬁ@ﬁgﬁ
2. Slider / ¥ATg S

3. Zoom slider / $JH ¥WITESY
4. Window slider / {38! Wgex

Correct Answer :-

« Zoom slider / 9[H RS

8) In MS Word 2010, the shortcut key used to underline a sentence or a word is: /

%nwaézmoﬁ,wammwwﬁwm(amaﬁmmﬁ%mamﬂaﬁaﬁwmw

1. Ctrl+D
2. Ctrl+W
3. Ctrl+U

4. Ctrl+L



Correct Answer :-

o Ctrl+U

9) A mouse, trackball and joystick are examples of .

TP HISY, Jphald 3R Siafe® & ISTERUI
1. Pen input devices/ LE| g19c ISCIER

2. Data collection devices / S¢T HAFIT %’GTQF

3. Multimedia devices / AeeigISaT fearsd

4. Pointing devices / 1313%"[ %T:HEF

Correct Answer :-

« Pointing devices / GT%ﬁTI m

10) How many ways a document can be viewed in MS Word 2007? /
THTY 8 2007 § U Sl B fHaa adie! A ST o1 Gohar 82
1.5
2.3
3.6

4.4

Correct Answer :-

11) Which type of device is a computer mouse? /
SR ARG 5 PR &1 IUHT 77
1. Software / TTHCAAR

2. Input / 79C
3. Storage / €R

4. Output / 3{T3CYC
Correct Answer :-

« Input/gYC

12) Which of the following is a part of the Central Processing Unit (CPU)? /
FafafEa # & o149 dga TRk gfe @iy o1 o it g2

1. Mouse / HI3Y

2. Key board /ﬁa’l's‘

3. Arithmetic logic unit (ALU) / 310 @ifoies gfHie (Tuay)

4, Printer / fliex



Correct Answer :-

o Arithmetic logic unit (ALU) / 3{ JAfew qrfore !:l;ﬁ'{ (UTY)

13) What is the length and width of an A3 sheet in MS Word 2007? /
THTY a8 2007 § A3 2T ) dars 3R AsTs T 82

1.8.27x 12.69

2.11.69 x 16.54

3.9.27x12.69

4.9.27x 11.69

Correct Answer :-

« 11.69 x 16.54

14) The action ‘Ctrl + I’ is used to convert the text to in the MS Word 2007. /

THTH TS 2007 H TR DI H gga & fIT 'Cerl + I' TIRA &1 SUAT far S 71
1. German / STH

2. Bold / dlcg

3. Roman / 35+

4. Ttalic / 3cfore

Correct Answer :-

. Italic / Scfold

15) The total number of colors available in the ‘Text Highlight Color’ ribbon in MS Word 2007 are: /
THE T8 2007 § TR gTEAEC Hor' a1 & Iuesy 7 3 o Ton i @:

1. 16

2. 15

3.18

4.12

Correct Answer :-

o 15

Topic:- Commerce

1) Dividend received from an Indian company which has suffered dividend distribution tax is

I

TP YR HU | YT ATHiRT o aryi=n faaror s Y- usT 8, Bl
1. exempt / X Hod

2. partially taxable / 3 ¥0 J B U



3. fully taxable / O3 a8 I B A1
4. not applicable for individual / Af&RTA & foTT AN T8l &

Correct Answer :-

« exempt/ P Had

2) Mrs. A has loss from house property of Rs. 1,30,000; income from salaries is Rs. 80,000, loss
from other sources is Rs. 9,00,00 and income from lotteries is Rs. 3,50,000. Find the gross total
income. /

ST A Y TR 91 Juftr | 1,30,000 FUT Ft F1 §% 7; A4 A UT 3T 80,000 FUY B, 37 HAal | g1
9,00,00 T ¥ et & 3T 3,50,000 U B | THA A 319 1 He|

1. Rs. 3,50,000 / 3,50,000 ¥UU
2. Rs. 4,00,000 / 4,00,000 >UUY
3. Rs. 2,20,000/2,20,000 UUY
4. Rs. 2,00,000/2,00,000 U4

Correct Answer :-

« Rs. 3,50,000/3,50,000 ®¥UQ

3) Under Section 288A of Income Tax Act, 1961, the total income is rounded off to the nearest
multiple of: /

gnu-marﬁrﬁmw, 1961 B! YRT 288A & 3idild, $d 319 fAdean ¥ Jua W YT g1 ATt
|

1. Never rounded off / &} T g1 gicit
2.Rs. 5/5%0U¢

3.Rs. 10/10 =UU

4.Rs.1/1%®0U

Correct Answer :-

+ Rs.10/10¥UU

4) CANCELLED

Mr. A, resident of Indore, receives Rs. 50,000 as a basic salary during the previous year 2017-18.
He gets Rs. 5000 as dearness allowance forming part of basic salary and Rs. 6000 as house rent
allowance. He pays Rs. 4500 as house rent. The taxable house rent allowance is: /

3SR & fAareht fir. A, s af 2017-18 & SR & 399 & ¥U A 50,000 FUT U H3d & | 98 T Ja
P TR &1 o FA a1a HEE U & U H 5000 FUT 3R fHIAT YT F =4 § 6000 FUTC YT
PId ¢ 1 98 TR BT fHIAT 4500 FUTY 31ST Hd &1 B TG TR H1 fbrar v« = 8:

1. Rs. 5000 / 5000 *=YU
2. Rs. 1200/ 1200 +=4U
3. Rs. 3200/ 3200 ¥=UU
4. Rs. 4800 /4800 ¥=UU



Correct Answer :-

« Rs. 5000 /5000 QU
5) CANCELLED

Government audit also includes the audit of government companies conducted by: /
M AATILTET & & gRT Iaferd @ Wt TP Sufat Bt aar gdten ot affrfe g 3

1. Ministry of Corporate Affairs / ®T1aIRe HIH! & HAT

2. Ministry of trade and Commerce / IR 3R aTforsyd HaTerd
3. Ministry of Finance / fad #31ed
4. Comptroller and Auditor General of India / W%ﬁﬂ%@%ﬁmw

Correct Answer :-

. Comptroller and Auditor General of India / HRd & fAa~a® Td HeToaTURI&®

6) In Madhya Pradesh, the construction and maintenance of water sources come under the functions of ./
Teg e H, STt Wial &1 fAwfor oy IRaI@ra @& & Pl & dgd Srar gl

1. Zilla Panchayat / ISNICEIRG

2. Janpad Panchayat / STUG UTTId

3. Gram Panchayat / UTH U=TAd

4. Gram Sabha / UTH IHT

Correct Answer :-

« Gram Panchayat / ITH U<ITId

7) In which year did Government of India separate Accounting functions from Audit? /
fora af & YR TRPR 7 A1 uan | @i S $Y e fHar ur

1. 1976

2.1985

3.1990

4. 1967

Correct Answer :-

« 1976

8) As per Madhya Pradesh Treasury Code, who among the following is appointed as Treasury Officer of a
district? /

%W?W%m,mﬁﬁﬁﬁﬁ%mm@aﬂm%mﬁﬁw
T 87

1. CEO — Zila Panchayat / @_ﬁg@f — fSreT damad



2. Assistant Collector / Hglddh Hadel
3. Deputy Collector / feot Fadex
4. Tehsildar / AgUIAGR

Correct Answer :-

 Deputy Collector / Pt Haiaex

9) As per Section 105 of MP Municipalities Act, 1961, which one of the following is the main source of revenue for
local bodies? /

AW TR UTferet SRIFAaH, 1961 F} URT 105 F AR, Fafafaa & @ o9 a1 =g e & fre
ToTG BT Y i 82

1. Driving license fees / @3‘%‘1 GIESR e

2. Water supply charges / SI¢] 3-[]'@ Reh
3. Goods & Services Tax / d¥g Td JqT PR

4. Government grants / IRPR] S{ald

Correct Answer :-

« Government grants / SRBRI 3G

10) “Transforming e-Governance for Transforming Governance” is the vision and approach of: /
“YITE P G P oY $-71a4 dgar A w1 ok efaiur 3:

1. e-Vidhaan / sc-]%ﬂ'l:f

2. e-Kranti / _Sf-ab—lﬁf

3.e-Seva/ _sc-@?ﬂ

4. e-Mitra / g—fﬁ?RT

Correct Answer :-

o e-Kranti/ _sf-?:b—lﬁf

11) A wide range of ICT services including Nationwide Communication Network for decentralised planning,
improvement in Government services and wider transparency of national and local Governments is offered by: /

faddipa aeT 7g TR Aead, M Aarsii § GUR iR T4 RIHG S| $t ATIS
TReRiar afga Jars #t ve fawga gaar g grR1 U= 3 e 8:

1. Project e-Governance Mission Team / LIRS _‘{E—W ﬁI'Q'I:T |

2. Ministry of Electronics and Information Technology / sﬁaﬁ&m 3R BCEL PIBIREIRE PR
3. National Knowledge Network / TI'QTC[ EiIGH Jeadh

4. National Informatics Centre / Tl'@'q BSEEL ICEISET

Correct Answer :-

« National Informatics Centre / TI'@T[ AT IEEISED:



12) All working expenditures of Madhya Pradesh Government are debited to which one of the following
accounts? /

fFrafafaa # @ 5 @ @ 79y I & 9t emesh oaa) &1 fdead a1 9w @faes) fPar s g2
1. Recurring Expenditure / 1At T

2. Revenue Expenditure / XTSIRd &Y

3. Capital Expenditure / ‘Zj\Trﬁ qyg

4. Plan Expenditure / i1

Correct Answer :-

« Revenue Expenditure / XTSI g

13) X Ltd. has incurred cost of production of Rs. 8000 and goods available for sales are Rs. 10,000. The cost of
goods sold of X Ltd. is Rs. 11,000. The cost of sales is Rs. 15,000 and sales are Rs. 18,000. The profit of X Ltd. is: /

X fefies A Idre &t @NTd WX 8000 U oY fhd 3R fasht & T SueTsy ATd, 10,000 $UA BT 1 X
forfies gRT 92 T A9 &1 @1 11,000 0 g1 fashl #Y anTd 15,000 TUA g 3R fawt 18,000 TUA 21.
X RS F1ay 8:

1. Rs. 10,000 / 10,000 3T
2. Rs. 5000 / 5000 ST
3. Rs. 7000 / 7000 ST
4. Rs. 3000 / 3000 U

Correct Answer :-

« Rs. 3000 /3000 3T

14) Which one of the following states DOES NOT have Fifth schedule areas to which the provisions of Panchayats
(Extension to Scheduled Areas) Act 1996 applies? /

fFrafafEa § @ $9 9 v A viwat st &7 78 @ R vemael & wraum= (g a5 ) fwrR)
ST, 1996 AT ST 82

1. Telangana / SNAIE
2. Bihar / fS8R
3. Madhya Pradesh / H& PR

4. Andhra Pradesh / 3T/ m

Correct Answer :-

. Bihar/f98R

15) Which one of the following DOES NOT constitute the Consolidated Fund of the State of Madhya Pradesh? /
frafafea o 9 o9 g yiwr 3y 3t |@fia i &1 167 98 Sar 32

1. Ways and means advances / rdfory 31

2. Deposits & Remittances / STHT Td PR

3. Revenues received / UT R[S



4. Loans raised / T%I'Q T 07

Correct Answer :-

« Deposits & Remittances / STHT Td PR

16) Which type of accounting system gives full current information concerning the realization of the revenue
estimates and the expenditure and availability of appropriations? /

5T YR F AT YuITeR I AT 9UT 4 SR fafrahT 31 Suasar & srha § "t gl ada
WHPRI St 32

1. Cash system / g PG|

2. Cost accounting system / T AT yoTTeRt

3. Accrual system / Uleg&a JUITElt

4. Expenditure accounting system / oJY oAt vt

Correct Answer :-

« Accrual system / TRgd- Jumeit

17) Which of the following budgets discards the principle of ‘incrementalism’? /
frafafEa o & $i9 91 gere gigxfiad (s=Piiefas) & Rigia & @ &3 a1 82
1. Programme Budgeting / PRIHH dolc (Ch";lm SIeT)

2. Zero Based Budgeting / [ YT Fofe (Trﬁﬁ RS EWSI'%’T)

3. Outcome Budgeting / TRUMH S5Tc (M3CHH Folfc)
4. Systematic Budgeting / AR ol (ReAfedm Fuife)

Correct Answer :-

o Zero BasedBudgeting/QF?\’:ﬂﬂTﬁ_d gofed (OIR GIH%SW%"D

18) Which of the following rules under MP Municipal Accounts Rules, 1971 stipulates that no advance shall be
drawn unless expenditure is likely to be incurred within one month? /

A U ¥ TRUT T a@ f1H, 1971 & dgd Fuff@d A a9 s fma fuia s g P e ada &
WiaR g 811 Bt FHTTAT 811 d oS 31w T8 forar simeame

1. Rule 96 (1) / @@ 96 (1)
2. Rule 123 /909 123

3. Rule 43 / O 43

4. Rule 112 (2) /T 112 (2)

Correct Answer :-

. Rule 112 (2)/FTH 112 (2)

19) Which of the following is a Fundamental Right derived from precedent of the Supreme Court? /

Frafafea & @ o a1 vat= =maraa & snieiive a1 d fAvfa 3 agas v Hifes sifter 82



1. Right Against Exploitation / TNYUT & RIS HYDPR

2. Cultural and Educational Rights of Minorities / D & ﬂ'lﬂ;ﬁﬁb_ 3R AeffOrep HfIBR
3. Right to Freedom of Religion and Conscience / et} 3R faae &1 Tadzrar &1 iR

4. Right to Privacy / EEGIEAREIRER

Correct Answer :-

« Right to Privacy / FoTdl T SEHR

20) Which of the following is the highest and revision appellate court in the revenue judicial system of the state of
Madhya Pradesh? /

AW I Pt IS TS Jorrent § fFrafifaa & & o1 W Swaw ok ey srdtefta sererd 82
1. Madhya Pradesh Board of Revenue / H¥ TSR IoRd AUSH

2. Minister for Revenue / JToTd HAt

3. Chief Commissioner of Revenue / U TSI 3T dd

4. High Court of Madhya Pradesh / H&J TR &1 I e

Correct Answer :-

« Madhya Pradesh Board of Revenue / H& YR ToRd HUSd

21) Which of the following is the India’s first VSAT (Very Small Aperture Terminal) based communication
network? /

Frafafaa ¥ @ $19 91 URd &1 gl e @At oy ik <fifqe) smearfya Jar Aead 82
1. RAILNET

2. ERNET

3. VIDYUDNET

4, NICNET

Correct Answer :-

« VIDYUDNET

22) Which of the following is the computer-based system for the manipulation and analysis of spatial information?
/

Frafafed # & o1 9 soger-snuria yomedt, Rfe a1 & sis-dis 3R fazavor & forg gt 82
1. Decision support system / fofg T gomeft

2. Knowledge based system / ST 3T FoTelt

3. Data management system / ST Y& YurTelt

4. Geographic information system / Ui AT goett

Correct Answer :-

» Geographic information system / Ui Bkl PI]]



23) Which of the following Acts provides the Collector with powers as a Magistrate to maintain law and order in
his/her jurisdiction? /

fFrafafEa & @ #1991 sififan Faeer i s afteR & ST 3R FawT §91E 7@ & g afite
& = # IiRT Ye™ Ha1 g2

1. Code of Civil Procedure, 1908 / Rfaa ufdean ﬂ.'%?ﬂ, 1908

2. Madhya Pradesh Public Trusts Act, 1951 / ¥ Uy ol Mg 3@’&1@, 1951
3. Code of Criminal Procedure, 1973 / QUS uﬁ»‘m@r%m, 1973

4. Civil Defence Act, 1968 / RTIR e Y& SHfAFTIH, 1968

Correct Answer :-

« Code of Criminal Procedure, 1973 / QUS mﬂ'%?ﬂ, 1973

24) Which of the following is NOT a function of the District Collector? /
FrafafEd 7 @ o179 91 g o forem e #1781 32

1. Execution of Rural Development Programmes / o fawg HrigHl &1 fAwaTeH
2. Assessment of Income Tax / HTIDR BT b AT

3. Collection of Land Revenue / H-XTS¥d & IUg

4, Maintenance of Law and Order / T 3R FGRT T /WG

Correct Answer :-

« Assessment of Income Tax / THHI HT AHTh el

25) Which is the committee formed for the duration of each Lok Sabha to examine the “composition and
character” of the Committees appointed by the Union and State Governments? /

Y 3R I WERY gRT e afifaa) #t <= ik ey &) o $31 & fore yde dteayr &
3afdy g w1 Wt afafa a8 75 82

1. Privilege Committee / IEELIREEESIEIR]
2. Business Advisory Committee / TR HTghR gfafa
3. Select Committee / UaR TfHfd

4. Joint Committee on Offices of Profit / TTY o UG! Haielt Tgad ot

Correct Answer :-

« Joint Committee on Offices of Profit / ATH & Uql Faet Tgad it

26) Which among the following is NOT an authority charged with the responsibility of carrying out the provisions
of Madhya Pradesh Municipal Corporation Act, 1961? /

ﬁqﬁ%@aﬁﬁmwmﬁmﬁwnwmwﬁwaﬁ‘uﬁw, 1961 & UTGLUTAY B T HIA BT et T8 Td
STt 82

1. The Mayor / II%TCﬁT
2. The Corporation / fA7TH

3. The Commissioner / ST



4. The District Collector / ToTAT Helaex

Correct Answer :-

« The District Collector / fSTa Faldex

27) is the grant approved by the Parliament in advance of the detailed examination of various
demands presented to it. /

TS g1 3HIfed 3rger & o 3uw uega @t 18 faftrs il Y favqga it & vga 1 <iiga
o e 21

1. Extraordinary grant / STHTYRUT 3T+
2. Vote on account / a@'lﬂﬂ'l:[

3. Special grant / A=Y /g™

4. Specific grant / fafery Sfqald

Correct Answer :-

« Vote on account / a'@'lﬂ?l:f

28) Under provisions of Madhya Pradesh Cinemas (Regulation) Act, 1952, who is the Licensing Authority for
cinemas? /

weg yemr R Fafrase) s, 1952 & wraeml & dgd RAATeRT & e sz mite R 19 82
1. District Magistrate / ST qUSTIRIGRY

2. Directorate of Culture / ﬂ'@ﬁf LEINEINE

3. Commissioner, Culture Department / 3{1gdd, Wﬁl faumr

4. Municipal Commissioner / FTRUTcTehT T ekd

Correct Answer :-

 District Magistrate / IEEIKASIIREAr

29) Under Right to Information Act, 2005, who is the Public Authority at the district level in Madhya Pradesh? /
I BT TSR Uy 2005 & ded, Weg W=  fre TR R a1 dte wifiearl 82

1. Divisional Commissioner / HS e 3Tgad

2. Sub-Collector / 3U-HAFeR

3. Collector / HATER

4. Tehsildar / TEEICGR

Correct Answer :-

« Collector / BT

30) Under which Article of Indian Constitution, can the state legislature endow powers to Panchayats to enable
them to function as self-governments? /

YR Afae & 5T srgwde & ded, Isy fAum-vsd, varadl & fwar UeH SRl § a1 9 W&a-]ma-t
& U N B R G2



1. 11™ Schedule / W 11

2. Article 243G / 3{TT5¢ 2435H
3. Article 73 / 3G 73

4. Article 343 / 3JT5G 343

Correct Answer :-

. Article 243G / 3G 24350

31) What is the meaning of the phrase “quo warranto”? /
"l arel (ITUPR 1) araizr o1 3 a1 82

1. Arrest warrant / FRUIR] dRE (W a'RE’)

2. By what authority / fog PR I

3. The prevailing circumstances / Taferd afRufaat

4. Bring the body / T&IT SIE] (@FT < m

Correct Answer :-

« By what authority / P PR T

32) When was the new Gram Swaraj system launched by the Madhya Pradesh government? /
T YR ATHA GRT TS UTH WRTS YUITel! H1 Ha IR= [T 11 412

1.2001

2.1993

3.2002

4. 2000

Correct Answer :-
« 2001

33) According to the MP Land Revenue Code, 1959, is the head of the revenue administration in the
district. /

O WSRT Y-IToIed igdT, 1950 F AR, o o o =i &1 v g 2|
1. CEO — Zila Panchayat / 141’5‘3?[ — fSreT damad

2. Revenue Officer/ IS SYDHRY

3. Collector / G

4. Finance Commissioner / fa ST

Correct Answer :-

« Collector / HAGE

34) Who heads the Monitoring Committee on Digital India? /



fefore e wr R wfafa & vgE@ S 82

1. Digital India Advisory Group / f&fSTca Sfear TaRE®R W g
2. Minister of Communications and IT / §dR Q_Q' GHé_CPI At

3. Cabinet Secretary / Ffae gl

4. Prime Minister / GTHAT

Correct Answer :-

« Prime Minister / THTTHAT

35) Who lays down the duties and powers of the Comptroller and Auditor — General of India? /

HRA & 3% Td AeTaaTudians & wadal SR fdadl o w14 fuifva swars?
1. Attorney General / TEare

2. Parliament / TH&

3. Supreme Court / Ydf=r e

4. Constitution / HfqYTT

Correct Answer :-

« Parliament / GG

36) Who took charge as the 13th Comptroller and Auditor — General of India? /
WIa ¥ 139 Prre Td AeTaRaTIR e & w0 § RReR TR ST

1. Rajiv Mehrishi / Tlsﬂatlgﬁ

2. T.N. Chaturvedi / EPIQ:T aﬂﬁ

3. VN. Kaul / LT, B

4. Vinod Rai / f&ila 3@

Correct Answer :-

. Rajiv Mehrishi / TSfid A

37) Who among the following are members of the Public Accounts Committee in the State of Madhya Pradesh? /

Frafafed & 9 o7 7w Ry v # de e 9y  ae g @
1. District Collectors / foTlT aidex

2. Members of Legislative Assembly / U™ U & Je

3. Members of Parliament / ¥¥IG & TG

4, Sarpanchs / IRUT

Correct Answer :-

« Members of Legislative Assembly / faum U & Jex



Who among the following is required to watch over the financial and executive administration of Municipal
Councils in Madhya Pradesh? /

7 ye™ # R uRuel & faxita 3k srfet u=mq #t Tauta 3q Fafafaa & @ 919 smawas 22
1. Divisional Commissioner / HS ¢ 3T

2. Chief Municipal Officer / T TWRUIIbT SHfHTRT

3. Collector / HadeR

4. The Mayor / tl%ﬁ?

Correct Answer :-

« Chief Municipal Officer / J¥1 TRUIfCTenT SHTABRT

39) Who among the following visualized e-Governance as “A transparent smart e-governance with seamless
access, secure and authentic flow of information crossing the interdepartmental barrier and providing a fair and
unbiased service to the citizen”? /

frafafaa 7 @ fram $-=mae 9, «siafduriia a1er 1 uR $37 8iR ArRS &1 <arayut ud fAsaer Jar
WS B aTaT TRIPd Ugd, GIET 3R JaT & UTHIG UaT8 & 1Y TP TRGRIT W 3-3Ma-” & &g o
Fieud far?

1. Ravi Shankar Prasad /R[dRI$R UHTG

2. N. Chandrababu Naidu / T. I TRIG
3. Narendra Modi /AR& Hlc

4. A.P.J. Abdul Kalam /TGS, 3{sgd dHalTd

Correct Answer :-

« APJ. Abdul Kalam /T.U1.Sl. 37egd Ha™

40) Who appoints the Secretary of the Gram Panchayat in Madhya Pradesh? /
TS A UTH YaTad & Tfua 3t fAgfes #i9 sare?

1. Janpad Panchayat / S-1U¢ U<rId

2. Gram Panchayat / 919 U=1d

3. Gram Sabha / UTH g4I

4. State Government / X[ MY

Correct Answer :-

« State Government / X[g R

41) Who defined Budget as “A statement of the estimated receipts and expenses during a fixed period”? /

fram aote &1 «us ¥ srafy & SR srgafa 3ma o & =i & w0 § ufvufa fasar
1. Remo Storm / X TIH

2. Leroy Beaulieo / TRTT S3fiferaan

3. Robert Walpole / J&¢ aiadlel

4. Willoughby / fa@rat



Correct Answer :-

« Leroy Beaulieo / REEEIINIE]

42) Who recommended performance budgeting in India? /
YR # frsare aoied 3 it foas a2

1. Administrative Reforms Commission / Wﬁw SN
2. General Purposes Committee / ITHRI PRI RSIEI]

3. Parliamentary Committee / Igdta afafa

4. Finance Commission / fa=T 3IART

Correct Answer :-

« Administrative Reforms Commission / URTIdh JUR STRT

43) Who recommends measures relating to the distribution of financial resources between the Union and the
States? /

Y 3R =0l & i faxiia Sarest & faavor & Jafta Sural $t Sr=iar 19 #ar 82
1. Parliament / 949G

2. Accountant General / II?I@@T‘TI?T

3. Comptroller and Auditor — General of India / HRd & dz® iG] HSIG{QIHE‘IW

4. Finance Commission / fa=T 3T

Correct Answer :-

« Finance Commission / faT 3MaNT

44) Who is vested with the responsibility of laying the Budget before the Parliament? /

e F U Toic TRgd P31 31 forder) fras! gidi 82
1. President / ?TQA'CI'%
2. Prime Minister / GUTHAT

3. CAG / Tius

4. Finance Minister / fad A=t

Correct Answer :-

o President / TIE;CI'%

45) Who addresses both the Houses of Parliament assembled together at the commencement of the Budget
session? /

ToIC T P ARH 31 W IS P 1 TSI ) THATY THIAd P DI JaUd BT 82
1. Speaker / 3{&I&

2. President / Tl'gqﬁ



3. Prime minister / GHTTHAT

4. Finance Minister / fa #31

Correct Answer :-

o President/ Tl'gcﬁ%f

46) Who is authorized to carry out the audit of the Consolidated Fund of the state of Madhya Pradesh? /
AW Iy B A (Y & @ udien (31ifSe) o o & fig o1 siftrpa grar 82

1. Accountant General of the State / o HIIGIHR

2. Comptroller & Auditor General of India / HRd & @ Td HeceRig s

3. Any empanelled Chartered Accountant / aﬂé 'J-ﬁ H\Eﬂa@' aTEFEF WTB%_C'

4, Statutory Auditors appointed by Governor / JISUUTA gIRT ﬁ'ﬁaﬁ qifafie et wied

Correct Answer :-

« Comptroller & Auditor General of India / HRd & a® Ud HeTeiaTaRie®

47) Who controls the entire financial system of the country at the Union as well as State levels? /
Y & 1Y Io9 TR TR 3 $ G fa<iia yorrelt ot A= Frifa srar e

1. Prime Minister / TTTHA

2. Comptroller and Auditor — General of India / HRd CARLECE Td IIE'I@'@T@W

3. Finance Commission / fa=T SIART

4. Finance Minister / fa< #3i1

Correct Answer :-

« Comptroller and Auditor — General of India / HIRd & foa® Ud HeeaTRie®

48) State Provident Fund comes under which one of the following accounts of the State of Madhya Pradesh? /
A USRI WY & fafaad # | iy ue ar (3re1de) & agd wed Hiass fAfdr st 32

1. Current Account / I MTdl

2. Consolidated Fund / Tferd fAfd

3. Contingency Fund / S R dr (e

4. Public Account / T @l

Correct Answer :-

« Public Account / A AT

49) Rules 97-98 of Madhya Pradesh Nagar Palika Lekha Niyam, 1971 provides: /

A UG TR UTRrpT Tt 1w, 1971 & s 97-98 1 & e yrawm= 8:

1. The allocation of government grants to Nagar Panchayats / TR Targd! 1 TRBRT &ﬂ?ﬂ:ﬁ &1 3fTdcd

2. The reconciliation of balances of Cash Book and Bank Accounts / Tda] dal 3R d& @1l & A (é?m) T JHTYUTT



3. The auditing of expenditure by the state governments / X QAT gRT 0 BT <RdT GRI&T

4. The usage of computers for accounting in Municipal Councils / TRUIfcrRT Uy & el & 1%111 m Eal
JUAIT

Correct Answer :-

« The reconciliation of balances of Cash Book and Bank Accounts / &a] Q_E?[ 3R §% WIdl & Ay (éﬁﬂ) D HHTYTT

50) The first auditor of a company is appointed by the Board of Directors within how many days of the
Registration of the company? /

5t Hut & Ugd AT wherd $) e Hed gRT Hu- & Usiiaur & fpaq &A1 & siew fgea fan
STaT 82

1. 30 Days / 30 fa=1
2. 90 Days /90 f&
3. 50 Days / 50 fa=
4. 60 Days / 60 faa

Correct Answer :-

« 30 Days/30 e

51) The office of Comptroller and Auditor — General of India, in the Constitution is substantially modelled upon
that of the Auditor - General under the i

I § Rd & FiEe td ARy &1 Sratad, F q8d AW-TNEP F YR W Tad:
TR fear T g1

1. Parliament Resolution / HI¢ Jbed

2. Indian Independence Act, 1947 / YR Wa=dl AfAFTH, 1947
3. Indian Councils Act, 1861 / HRdiII URYg ST, 1861

4, Government of India Act, 1935 / HRd TRHPR \Hﬁﬁ’qq, 1935

Correct Answer :-

« Government of India Act, 1935 / HRd IRBR ATAFTH, 1935

52) The Comptroller and Auditor — General of India vacates office on attaining the age of 65 years, even with or
without completing the years term. /

YRd ¥ o vd meraarie® & sriera a1 au_ os af St g A gt aarg A 391 adfy
PRIGTA YT §3MT Y S7yar gt |

1.5

2.3

3.4

4.6

Correct Answer :-



53) The 73rd constitutional amendment is related to which of the following factors? /

7391 Gaenfre Geiy Pl 7 4 fra ore A Gdfa @2

1. Women will have 33% reservation in PRIs / Gl 7ol SRUTSAT (dDTG‘I'ITG‘I'Ié) T gigemafl &1 33% SMREU I
2. Women will have 33% reservation in urban local bodies / m T el | q‘%ﬂT\’!ﬁ DI 33% SRETT E;T"ITI
3. Women will have reservation in jobs / il o II'FE:'FIT@[ DT HREUT a“'ﬂl

4. None of the above /maﬁ =k ﬁ’sﬁ :1_Eﬁ

Correct Answer :-

« Women will have 33% reservation in PRIs /ﬂ?lTCIT‘ﬁ IS GRS (dsf\?rﬂTGﬂé) | If%?ﬂ@f DT 33% REUT EﬂTITI

54) Statutory audit is often known as: /
e AT ue S UTa: I§ BT Tl 5
1. Management audit / T/ TIRaT UR1&M

2. Cost audit / ST THaT TRI&T

3. Internal audit / TR <A1 URT&T

4. Financial audit / fa<iig oRar wien

Correct Answer :-

« Financial audit / fa<iar <ikar aiem

55) Balance sheet audit is a type of audit which concentrates mainly on: /
a9 e 3iifee T ToR Ft d@Tulen 8 ) §=I U A e R e Sia sarg:
1. Company’s affairs and loss account balance only /
Had DU P BB 3R BT g B AV A
2. Company’s profit and cash flow only /
HIA B BT AH 3R THE TG |
3. Cash receipts and cash payment /
e UTfeerdt 3R Fahg Yia |
4. Balance sheet such as capital, reserves, profit and loss account balance /

o e S Uoh, HeR, A1 3R g1 aRat 1 A9 |

Correct Answer :-

» Balance sheet such as capital, reserves, profit and loss account balance /

o 2ie S golt, HeR, A SR g1 akat &1 9 |

56) District Collectors in Madhya Pradesh have formally been accorded a role in about important
national/state legislations. /

:%u%%wﬁﬁmﬁaeﬁﬁaﬁmﬁﬁmﬁmw He@qul IR faumi & sieta syfaer &
|



1. 15
2.22
3. 120
4.76

Correct Answer :-

. 76

57) According to Rule 13 of The Companies (Accounts) Rules, 2014, the following class or classes of
companies shall be required to appoint an internal auditor or a firm of internal auditors, namely: /

FU-T (@) T 2014 F AW 13 F AR, Hulal & FafafEa o ar o @1 v siafve aar e
T SATAND AQT TP B1 TH BH fgd B DI ATTRAHAT §HI :

1. Every Company Registered in India / HRd | tﬁﬂ@_&‘[ U HUA!
2. Every Private Company / TP ol T

3. Every Listed Company / PC ﬁ?ﬁa@ U

4. Every Public Company / UI® UfedTd Hut

Correct Answer :-

« Every Listed Company / U Jaax HUAT

58) A firm has total sales of Rs. 4,00,000 and variable cost of Rs. 2,00,000. If the firm has made profit of
Rs. 50,000, then the profit volume ratio of the firm is .

TP B 1 $a fawl 4,00,000 FTF 3R TG @FT 2,00,000 FUE g1 afE BH A 50,000 TUL HT ATY
ST R, df BH BT ATH-HET 3T 3

1. 50%
2. 30%
3.20%

4. 40%

Correct Answer :-

+ 50%

59) Any sum of money or any property received by an individual shall be taxable if such gift is
received from v

gfe BIg SUER W T g1 8, a1 39 SR gIRT YT P T8 ol Y-RTIRT AT HURI B I gt
1. spouse of the individual / e & ufa/aa

2. brother or sister of the spouse of the individual ) fad & Ufa/ad & q-I1'5:‘CITE|E:[

3. brother or sister of the individual / fdd & urs‘!:naeﬁ

4, any close friend of the individual ) afad & forsft Bt o

Correct Answer :-

. any close friend of the individual / fad & forll HeT o



60) As per Income Tax Act, 1961, an individual is considered as resident in any previous year if he/she
is in India during the period for total of L

ATI-H U, 1961 F AR, frdt aafda & URa & Fardt & v & 9 S7an 8, afe ag fasdt o
ud af & WY qF WRd | 6T &

1. 100 days or more / 100 o a1 399 sifdws
2. 90 days or more / 90 &= a1 34X 3ifdw

3. 182 days or more / 182 fa7 a1 IT¥ 31w
4. 365 days or more / 365 f& a1 IO¥ 3MfY®H

Correct Answer :-

. 182 days or more / 182 f&71 a1 3T 3ifd®

61) Total Cost of the product is calculated as: /

TP IATE Pt $A AN I TUFT 59 YR B A<l 8:

1. Revenue — Variable Cost / ToRd - URGd-1 ANTd

2. Fixed Cost — Variable Cost / RITft @FTd - URTcH1A AT
3. Fixed Cost + Variable Cost / RITft @RTd + GRad=d arTd

4. Variable Cost — Fixed Cost / URId-I dNTd - RIRH ARTd

Correct Answer :-

. Fixed Cost + Variable Cost / QIR ARTd + GRAd-1g ANTd

62) The minimum level of stock represents: /
YSR (LTh) BT YAdH WX e2Tar &:
1. The normal issues of stock are usually stopped at this level /
HER (TTP) P T THITT JHIG: 39 TR IR AD <l S g
2. The level at which indents should be placed for replenishing stocks /
IE TR ol R HSR (i) B! G Il & 1w g5 &1 @1 o1 anfe T
3. The minimum quantity above which stocks should not be held at any time /

ATH 91 fS e FWR HeR (i) fardlt 1ff 0 =181 g1 9nfgul

4. The minimum quantity of stock that should be held at all times /

USR (1) P AqH HHET S g IHY &1 g1 AN |
Correct Answer :-

« The minimum quantity of stock that should be held at all times /

SR (CTdh) BT FAqH T S g% THT &1 X611 afgul



goted faf R siavia geie &1 74 RN 9 duR foar Srar 8, 39 &8 Jdl 6:

1. Incremental budgeting / IFGRMd Tolc EPIHcd Fufie)
2. Flexible budgeting / @GR Sofe (TRifaad selfe)
3. Static budgeting / R SoTed (fe® awifem)

4. Zero-Based Budgeting / X[- 3R Fofe (SIRI-SRAS Folfe)

Correct Answer :-

« Zero-Based Budgeting / J[U-3{T¢Y Rd gore (SIRI-aRTS aﬁlﬁ"[)

64) The Income Tax Act, 1961 under Section 44AB provides for the compulsory audit of the accounts

of certain income tax assessee whose turnover or receipts exceed ./
RT 44AB & 37T, STAHR TUFTH 1961 TB mae= freffdt & @rat &) sifvrard aar wien e sar
R st gy arwfemi . Al @ @)

1. Rs. 50,00,000 / 50,00,000 =T

2. Rs. 5,00,000 / 5,00,000 =T

3. Rs. 10,00,000 / 10,00,000 =T

4. Rs. 1,00,00,000 / 1,00,00,000 T

Correct Answer :-

« Rs. 1,00,00,000 / 1,00,00,000??@[

65) Normal waste incurred by the firm is L

w1 gRT fFT T AT SrAfRIE H) 2l

1. treated as a part of the product cost / 3dIq AN & U e & =0 H JHET STl

2. transferred to costing profit and loss account / QTd ¢TH 3R B W H IR HR e s
3. excluded from the product cost / 3dlq ANTd I FIER 3T Sl

4. adjusted with abnormal cost / HTHI ANTd & Ty FHENSTT fodT ST

Correct Answer :-

- treated as a part of the product cost/ 3l W%W%@%Wﬁww

66) While computing income from house property, a standard deduction of of the net annual is
allowed towards repairs, maintenance, etc. /

TR B R A 3T B T HRd 94, FHaa aiftfe sma a1 UH® Heldl, YUR, TE-IGG 3T F
forg wipa g1

1. 10%
2.15%
3. 30%

4. 20%

Correct Answer :-



67) Mr. S is a writer and earns through royalty. The maximum deduction that he can claim for such
income is /

. s T 9@® g MR ITR| & AN I HHIAT ¢ | W 3y & forw 98 sifiread st g o fore
98 19T B ghdr g

1. Rs. 4,00,000 / 4,00,000 YU
2. Rs. 3,00,000 /3,00,000 YU
3. Rs. 2,00,000 /2,00,000 34U

4.Rs. 1,00,000/ 1,00,000 =UY

Correct Answer :-

« Rs. 3,00,000/ 3,00,000 =44

68) Mrs. A had purchased a diamond necklace as on 10/10/2016 for Rs. 50,000. On 1/05/2017, she has
sewn additional diamond on it costing Rs. 20,000. On 1/08/2017, she sold it for Rs. 90,000 and incurred
brokerage for arranging customer for Rs. 5000. Compute capital gain. /

ST A 7 10/10/2016 BY 50,000 TUT A TH I BT TR WRIGT| 1/05/2017 BT 3814 STH 20,000 FYY T AR
P1 Sifafvad ERTSTSArTI 1/08/2017 B 371 3 90,000 TUT H 39 faT 3R UTe P 1 UTRIT H1 F forw
SETe R 5000 ¥UT o0 {1 YoIRTd 1Y Bt 0T B |

1. Rs. 15,000/ 15,000 =UUQ
2. Rs. 8000/ 8000 +=UU
3. Rs. 14,000 / 14,000 YU
4. Rs. 3000 /3000 =UU

Correct Answer :-

+ Rs. 15,000/ 15,000 =UU€

69) Propriety audit is conducted to evaluate whether the firm is meeting the test of: /

gﬁﬁwﬁm&nmmwmmﬁ%mﬁmw%ﬁ?ﬁﬁﬁaﬁﬁﬁﬁwmw

1. Government regulations and public interest / WHRI aw GﬁTW%ﬂ
2. Improving the profit earning capacity / Y ITSH &IﬂﬁTﬁﬁ%ﬂT

3. Firm is paying taxes on time / T H TG TR HR A1 o Ecal el %‘

4. Compliance of tax law / ®X ®II7 HT JUlcid

Correct Answer :-

« Government regulations and public interest / WeRI Faw @TW%H

70) Secretarial audit is an effective tool for: /

Tfearafie aar udten A9 & fore e gyt are= 8:



1. Internal audit / TR AT URI&M

2. Efficiency audit / G&fdT oiRaT GR1&f

3. Corporate compliance management / PIRURE WWW
4. Cost audit / TRTd <Rl GRI&fT

Correct Answer :-

» Corporate compliance management / HIRUNT GIECITFFTW?FT

71) Standard costing is a technique which involves comparison of i
YHTY ARTd U a1 & R &1 gerT 2MfHe gt 3 |
1. variable cost with the total cost /
Fd ANTA & I1Y TR AT
2. fixed cost with the variable cost /
IRAIT ARTd & A1 IR AT
3. actual cost with the competitor‘s cost to find variation /
firerett fepTer & forg Uit 1 T & A1y dRdide arTd

4, actual cost with the standard cost to find variation /

e fRpTem & fold AF® dNTd & 1Y aRdfde anTd

Correct Answer :-
« actual cost with the standard cost to find variation /

fArerar fReeTe & folw AMe dNTd & 91 aRdfde drTd

72) XYZ Ltd. has a total fixed cost of Rs. 2,00,000. The selling price per unit is Rs. 50 and the variable

cost is Rs. 30. The break-even points are i
Xyz faftres & o Rrf arTd 2,00,000 TUA 81 Ufd 3PS B faspa gea 50 3 3 3R uRkad-a @rTd 30
T | ary-sremy fRufeat (@9-3a+1 wrdew) gl

1. 12,000 units / 12,000 SHTAT
2. 10,000 units / 10,000 1T
3. 5000 units / 5000 SHTSAT
4. 4000 units / 4000 SHTST

Correct Answer :-

« 10,000 units / 10,000 SHTSTT

73) Which two words were added to the Preamble in the 42"9 amendment of 19762 /
1976 % 427 e F 1 A Q) <} Y T  wiveT T

1. Socialist and Secular / FHTSIATE! 3R gHfAROe

2. Right to Education and Right to Information / e &1 3fIPR 3R AT oI SHYPR



3. Labour and Law / 99 3[R CALGl
4. Economy and Social / 3{fqa®T 3R IR

Correct Answer :-

« Socialist and Secular / FHTSI@TC 3R ﬂﬁﬁ“\rﬁr&r

74) The Preamble to Indian Constitution is based on the “Objective Resolution” introduced by: /

YR YU B ITRAPT ryar IRara-1 “SE T IHeu” TR YT § St 39 §RT UXdriad »1 78 o
1. Mr. Jawaharlal Nehru / ot oldig did ﬁfﬂ;

2. M. Vallabhbhai Patel / §f geeTH HTS Ued

3. Mr. Rajendra Prasad / st m TdTq

4. Mr. B.R. Ambedkar / St &t IR, IFSSH

Correct Answer :-

« Mr. Jawaharlal Nehru / 4t STT8R @Td 98

75) Who presides over a joint sitting of Parliament? /
TG P UGS do® T DI SAHEIdT HdT 82

1. Speaker / 3{I& (T@av)

2. President of India / HRd %Tl'gqﬁf

3. Deputy Chairman of Rajya Sabha / I HHT & JUTHE
4. Vice President of India / YRd & GQTIE'CI'%

Correct Answer :-

 Speaker / A& (?Cﬂﬁb_wl)

76) Which of the following Commission’s report recommended the implementation of the Panchayat System? /
frfafea o 9 fa s 3t Ruid # darga yomedt & sraf<a 5t Rt #1715 4

1. Balwantrai Mehta Commission / SeldaRg fI_E;T‘IT 3TN

2. JS Verma Commission / é@ arqf 31Tq-T‘T

3. MC Mehta Commission / Qﬂ?ﬂﬁ%?ﬂ STNT

4. Srikrishna Commission / %‘SUT SN

Correct Answer :-

« Balwantrai Mehta Commission / SeldaRg ﬂ_E?T‘IT 3TN

77) Which of the following is NOT covered under Article 20 of Indian Constitution? /
frafafad § @ #19, yRdia SRuE & e 20 F ded e T8 @2

1. Protection against self-incrimination / 3{TcH ST o faeg TRef

2. Principle of ex-post facto laws / FHarR fafd &1 Rrgid



3. Principle of legitimate expectation / 9y IwE & Rigid
4. Principle of double jeopardy / qIex Sifad &1 Rigid

Correct Answer :-

« Principle of legitimate expectation / Yy 30 ¢ & Rigid

78) Which of the following Articles of Indian Constitution abolished untouchability? /

YR Wfau™ & fFrffaa & @ o9 @ sgoe § SRy=adT &1 3@+ 3R far T/m?
1. Article 17 / 315G 17

2. Article 15 / 37J®5¢ 15

3. Article 14 / 37J®5G 14

4. Article 42 / 3G 42

Correct Answer :-

. Article 17 / 3G 17

79) Which of the following Articles of Indian Constitution deals with Citizenship matters? /
fFrafafaa 7 @ $19 91 g, ARTREar el ¥ Hefta g2

1. Article 32 / 3G 32

2. Article 45 / 3TJ®G 45

3. Article 1 / 3FJ®G 1

4. Article 5 / 3J®G 5

Correct Answer :-

o Article 5/ &H@ES

80) Which of the following Articles of Indian Constitution deals with Laws Inconsistent with Fundamental
Rights? /

YR Adfaum & Fafafaa sgsel @ o1 a1, Aifte SfteRT & w1y i ST | Jafta 32
1. Article 14/ 3 T%5G 14
2. Article 13/ 3®5¢ 13
3. Article 11 / 3J®g 11
4. Article 12/ 3T 12

Correct Answer :-

. Article 13/ 3¢ 13

81) Which of the following Indian States has a separate constitution for itself? /
frafafea & 9 g wRda T 31 391 T et |fau g2
1. Arunachal Pradesh / SR=UTAd UG



2. Sikkim / Rifdpd
3. Jammu and Kashmir / \_rl'ﬂl@ HER
4. Himachal Pradesh / %Iﬂ?lﬁ Ela'-‘lT

Correct Answer :-

e Jammu and Kashmir / Gmiqa FER

82) Which of the following Courts has advisory jurisdiction? /
Frafafea # @ fea ey & vareR gaiieR g 82
1. Labour Court / ¥H <IATAY (@ER ﬁ_&

2. City Civil Court / TR ffae =umarag (¥t Rifaa #19)

3. Supreme Court / g amraTer (ﬁfﬁﬂ aﬁ'c‘)

4. Family Court / g UIITY (ﬁ?‘&l?ﬁ ﬁ'c‘)

Correct Answer :-

+ Supreme Court / ot =arraa @Eﬁ‘q ﬁﬁ)

83) Which of the following is NOT a form of emergency contemplated in Indian Constitution? /
HRAH \@faur & fFrefafea 3§ 9 919 9 1R o1 smuraera uRefeud 7981 32

1. State Emergency / XIS 3TUTdhTcT

2. Natural Disaster Emergency / Elm CIEHRS IEIEAN]

3. Financial Emergency / fawita saTdeTa

4. National Emergency / Q'I'Qj'q ST

Correct Answer :-

« Natural Disaster Emergency / W SIEHESIEIREAN]

84) Which of the following falls exclusively under the Union List? /
fFrafafaa 7 @ $i9 Ty = & ded oy v A smar g2

1. Forests / 9

2. Public Welfare / JTdl=db Hedrol

3. Labour / 4H
4. Foreign Affairs / fqe=r A

Correct Answer :-

o Foreign Affairs / fae=r A

85) Which of the following phrases is not used in the Preamble to the Constitution to describe the form of
governance in India? /



e & A $19 A T (hel) $TSTHTT HRd | JMHA & =Y BT gui4 H39 & e dfyu= &) ywaraar o
T8} fpar mar 82

1. Federal / 81T

2. Republic / TTOTGH

3. Socialist / GHTSTATG]
4. Secular / YHAROE

Correct Answer :-

« Federal / IO

86) Which Schedule of the Constitution covers the powers of municipalities? /
TR ot P W SrRE & TRferewTsi it wfdaat @) witre far g2
1ty

2. 12t/ 1o
3.7t/ 78

4.8t/ g
Correct Answer :-
. 12ty o

87) The powers and duties of the Comptroller and Auditor General are established under which of the following
Articles of Indian Constitution? /

HRAT G ¥ Frafif@d § A fra e & ded Friae ud Aeraaruias & 2fema) ok sded i
RITYT T TS 82

1. Article 149 / 3G 149
2. Article 148 / 37J@5G 148
3. Article 146 / 3J®5G 146
4. Article 147 / 3J®5¢ 147

Correct Answer :-

. Article 149 / 3G 149

88) President’s rule is imposed in a State under which of the following Articles of Indian Constitution? /
YR \fau™ & freafafed srwsel 3 9 f$ue aed te e | Irsgufa e &1 ar] faar s g2
1. Article 360 / 3TEG 360

2. Article 377 / 3J@5¢ 377

3. Article 352 / 3J®5G 352

4. Article 356 / 3G 356

Correct Answer :-



« Article 356 / 3Jw9G 356

89) Expenditure incurred by Madhya Pradesh Government with the object of increasing concrete assets of a
material is debited to which one of the following accounts? /

T ATEh @1 gd uRaEi B 9g1 & 34 I U USRI WA §RT fay T oy ol Fufafea A 3 fea @ @
fame ar I @fdcs) frar wrar 82

1. Recurring Expenditure / 1At T

2. Revenue Expenditure / XTSIXd &Y

3. Non-Recurring Expenditure / 3Hadf o
4. Capital Expenditure / ‘F‘ﬁ g

Correct Answer :-

 Capital Expenditure / ‘Zj\Trﬁ qyg

90) Article 239AA of Indian Constitution confers special status on which of the following territories? /

YR YA & 3¢ 2390 & dgd FArAfaiead # 3 59 87«1 faw guf e @2
1. NCT of Delhi / fdeelt &7 TRt
2. Daman and Diu / GHT SﬁT‘CﬁH

3. Puducherry / %ﬁﬁ
4. Jammu and Kashmir / Gﬂl&ﬁq DR

Correct Answer :-

« NCT of Delhi / [&eai &1 TAIET

91) Writ jurisdiction of the High Court is exercised under which of the following Articles of Indian Constitution? /

YR\ & Fefafed srgwsel ¥ ¥ foas aga 3w |amarag & e dafier (e sgiis®m) &1
AN fomaT ST 82

1. Article 32 / TG 32
2. Article 346 / 3J®G 346
3. Article 226 / 3J®G 226
4. Article 21 / 3J®5¢ 21

Correct Answer :-

. Article 226 / 3G 226

92) In which of the following judgments of the Supreme Court was the scope of Article 21 of Indian Constitution
expanded? /

Hate <araTay & fAafafad ot o & fead yRdha \faum™ & o 21 & grR &1 fawR fear
1. Sharad Sarda vs. State of Maharashtra / RRG &l o-TH HERTY IoT
2. Maneka Gandhi vs. Union of India / ATebT el 910 HROIT 99



3. M.C. Mehta vs. Union of India / TH. 91, Hgdl §-1H HRdg Y
4. Bachan Singh vs. State of Punjab / S Rig S99 UslTd o9

Correct Answer :-

« Maneka Gandhi vs. Union of India / AT Tt 910 R I9

93) The procedure for impeachment of the President of India is laid down under which of the following Articles of
Indian Constitution? /

%mﬁqﬁﬁm%ﬁw%%aﬁﬁmaﬂéz%mW%mﬁwwﬁmaﬁmmm
?

1. Article 61 / 3% 61
2. Article 60 / 3G 60
3. Article 59 / 3J®G 59
4. Article 62 / 3G 62

Correct Answer :-

. Article 61 / 3G 61

94) Under which of the following Articles of Indian Constitution was the Finance Commission established? /
HRY fae & frafafed sradd 3 3 frad aga fawita SmaT 3t g 3t 718 A9

1. Article 280 / 3{T&5G 280

2. Article 282 / 3@G 282

3. Article 284 / 3TJEG 284

4. Article 283 / 3Jw5¢ 283

Correct Answer :-

. Article 280 / 35S 280

95) Under which of the following Articles of Indian Constitution can the Governor promulgate an Ordinance? /
YR @iy ¥ fA=fafa o 3 59 sgee & ded ISauTd U SR & ORI HR Ahdl 82

1. Article 215 / 3G 215

2. Article 214 / %G 214

3. Article 213 / 3J®G 213

4. Article 212 / 3FT®5G 212

Correct Answer :-

. Article 213 / 3®5¢ 213

96) Who was the first Comptroller and Auditor General of India? /

YRA & YYH o td mgraamaiies i A2



1. V. Narahari Rao / dl. TRERI 1

2. Vilasrao Deshmukh / facireRTa %Q‘I’ﬂ@
3. Rajendra Prasad / XTSI UTG

4. George Mathai / TSt HUTg

Correct Answer :-

« V. Narahari Rao / @ '_‘Rélil RG]

97) Who appoints the Chairman of Union Public Service Commission? /
Y AP AT TN P 3feaes &) Fgfad w19 dear g2

1. Prime Minister / T&T=HAT

2. Chief Justice of India / HRd %H@ ety

3. Speaker / & (W)
4. President / QTQ;‘T%

Correct Answer :-

« President / TIEQ'CIﬁ‘T

98) All revenues received or loans raised by the government are deposited in .
SR gRT UG fohd T WA 1o a1 g ma o # o1 fg ora 71
1. Emergency fund / SuTdeh e [l

2. Consolidated Fund / Sferd A

3. Contingency Fund / 3T Rl Al

4. Public Fund / @ieb f47&r

Correct Answer :-

« Consolidated Fund / Sferd e

99) Which of the following committee members are drawn only from Lok sabha? /
Frafafea # & fea afafa & g Saa die 9w 3 g wrd 32

1. Committee on Subordinate legislation / ey faur deeft afufa

2. Committee on Public Undertakings / grdSe Iumal Geeh gfifa

3. Public Accounts Committee / Tep <@l AT

4. Estimates Committee / UTdeb i IiAfd

Correct Answer :-

« Estimates Committee / UTaH A I

100) The salaries and administrative expenses of the office of the Comptroller and Auditor — General of India are
charged upon ./



YR & U~ Td TETIAETRIE S & PO S daI IR IRMEAFTT . AU B
1. Monetary Fund / &1 ®IY

2. Consolidated Fund / Fferd fAfg

3. Contingency Fund / 3T RH&HdT (AT

4. Plan Fund / Ao (RS

Correct Answer :-

« Consolidated Fund / dferd A



